14 has _1 tenand 4_

b664 4

Year 1 Vocabulary
NUMBEISo 20 Number and Place Value to 20 One two.....to
twenty
Greater than
CounT on fr‘om 10 . . . . . |ess than
more than
. . . . . equivalent
I different ways
p- The ten frame is full, tens ones
10 11 1 13 14 15 16 17 18 19 20 || so I know that I have made _10_ numerals
words same
..... o000 O O00e 9 000e different 1
10 + ooo/o[o [o/eooee [eoeeee |
en T nie oe[e[oo| [e[ee[e[e| [e[e[e]e]® more 1 less
11 eleven 00 N0 oloo® r_lumber line
12 ’rwelve [ ) estlngsﬁfpargrder
13  thirteen represent equal
12 has _1_tenand 2_ones. 00 00e One more , one to <> =
14 four"reen ooeolele less subitise
15 fifteen 00006 eeeee e
16 |sixt LU L 0000 L1-121314151611181?2J
IXteen
000 =
17 |seventeen There are _2_ tens in 20 less
18 e.ighTeen . Max has 11 cherries. !!!
as _1 tenand 3 ones. ‘ “ . . .
19 |nineteen ‘ ‘ ‘
@O
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He eats 1 cherry.
How many does he have now?

1 less than 11 is 10

Numberline to
20

1 more than 16 is 17
17 is 1 more than 16

16 has _1_tenand _6_ones.

|9 1|0 1|1 1|2 1|3 1|4 1|5 1|6 1|7 1|8 1|9 2|0




Add by

Year 1

Addition and Subtraction to 20

)

counting
( Doubles
(MY
TEERE LA Rk iy
O B B B BB R oyl el
1 2
To work out 7 + 5, T will count on 2 4
from _7 3 6
4 8
7+5=_12 5 | 10
6 12
( Add ones by using number bonds ) 7 14
8 16
9 18
10 20

5 and _4 are a number bond to _9,

, ®®
X

( Use near
doubles

15+4=15

Use doubles to work out near doubles.

So 15 and 4 are a humber bond to 19

{

[ 5+s ]

Using number bonds to )

add to 20

‘.|.|.|.|.
OO0

O

[ | @@

O

O

_6_is 1 more than _5, so I can work out
double 5 and then add 1

00000
00000

[I]HHHHH
[ [ QDO

The difference between 6 and 2 is 4

Vocabulary
Addition add
plus total
altogether total
how many more?
counting on
subtraction
subtract minus
take
counting back
number bonds
doubles
near doubles
one more
one less
number sentence
find the difference
difference
patterns
same
different
missing number
fact family

6+4=10

$8es govee

16 + 4 = 20

=
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20

20]
2]

B
)

20]

0 00 00 00 00

o

00 00 00 00 06

Fact
Families

= |ese -
gasee o)

. 19+ 1/=20 20-19 =1
1 +19 =20 20—1 =19




Mi12(13[(14 15

17

18 19 [ 20

21122123124 |25

26

27

28129130

31132 |33|34|35

36

37

38 | 39 | 40

4142|4344 |45

47

48 [ 49 | 50

' LLL LY

There are 50 ones in 50 _

There are _5_tens in 50 _

Base 10 Number | Ho% manY
T 10 1ten
(TTTTTTTITY (TTTTITTITY 20 2 tens
(T T OTTTTTTTTTY 30 3 tens
o | 0| 4tens
e G 50 | 5itens

_40 isapartand _7_is apart.

_47 is the whole.

1 more Voca bUIary

Year 1 1 less Counting on

Place Value (within 50) 2 2 forwards
backwards
ones tens

How many frogs? groups of
000@ tens frame

One more than 43 is 44 one, two.....to
50.

partition

™ N front g :: :: :: : number line
ere are gr‘oups oT Ten I"OgS an .
_4_more frogs. estimate
o _ 00 00 o0 @ 1 more
ere are _34 frogs in total. o0 oo oo o 1 loss
00 00 00 e

whole part
number line

o less than
: : One less than _35 is _34 greater than

s half way

I have 5 tens and _7_ones. closer to

T have _57 in total.
1 less 1 more
Partition tens
and Ones
43 45

< Number lines >
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—=

| I I [ I | I | I | |
30 31 32 33 34 35 36 37 38 39 40

The first number on the number line is 30

The last number on the number line is 40

The number line is going up in _1s




Year 1 Vocabulary
i longer
e lEmal Length and Height <horter
and height taller
: ; : difference
[ s .
: P is equal to
[ The same length. ] com pa re
[ The pen is longer than the pencil. J measure
b The giraffe is taller than the horse. BEEEEERE R unit Of
b 0 1 2 3 4 5 & 7 8 9 10111213 1615 measure
[ The pencil is shorter than the pen. [The Foree isiariaN o 1he slpafie] D cent(l:nn?]etre
ey TTTTTTTTTTITTITIT]
Q(‘a’ 0 1 2 3 4 5 4 7 8 90111211608 |ength
. height
centimetres

using objects

We can measure length and height
in centimetres using a ruler.

How long is the pen?

LT T T T T T T T T T 1T 1T T 11
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
0|0|0|0|0O =

How long is the line?

1

1
T T 17T 7 1T T 1 T T T 1
1 2 3 4 5 6 7 8 (10 11 12 13 14 15

m

The penis 5 L ‘

cubes long. N

no—r---

The line is _10 cm long fo the
nearest centimetre.
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Heavier
and
Lighter

Year 1
Mass and Volume (page 1)

The scales are balanced.

Which object is heavier?

The pear is heavier than the sweef.

The grape is lighter than the orange.

The bottle is heavier than the leaf.

The mass of the bottle is greater
than the mass of the leaf.

Measure
Mass

The mass of the orange is| 5 |cubes.

Compare
Mass

The mass of the apple is cubes,

-

The mass of the orange is cubes.

5(<)7

The mass of the apple is less
than the mass of the orange.

The apple is lighter than the orange.

Vocabulary
heavier
lighter

balance scale

mass
unit of
measure
full empty
nearly empty
nearly full
contains
container
capacity
compare
volume
more than
less than
unit of
measure




Capacity

The maximum amount that

Year 1

something can hold inside it.

Which do you think can hold
more water?

= ¢

The bath has a greater capacity.

The amount of something
actually inside a container.

capacity

Volume

Mass and Volume (page 2)
Volume

—T1 ]

! volume

Which do you think can hold

more marbles?

The box has a greater capacity.

How can we describe the volume?

E
E

iy

A has less water than

B.

The glass is empty.

The glass is full.

4 cups of water fill the jug.

)

The capacity of the jug is
4 |cups of water.

'

B has more juice than A.

The glass is nearly empty.

The glass is nearly full.

Compare
Capacity @

Jug A.

2<3

| is equal to

iy

Uuy

2 glasses filled 3 glasses filled

Jug B.

Which jug has the greater capacity?

Jug B




